Math 300
§2.1 Group Work PINS: Group Number: 1, 4, 5, 6.

Each group should, for their group’s given pair of compound statements,

(a) make a truth table

(b) determine of their two given compound statements are logically equivalent.
Below is each group’s AWW link and the group’s pair of compound statements.

(1) §2.1 Group 1 AWW link. Pair of statements: ~ (P A Q) and (~ P) V (~ Q).
(4) §2.1 Group 4 AWW link. Pair of statements: P = @ and (~ P) V Q.
(5) §2.1 Group 5 AWW link. Pair of statements: ~ (P = @) and P A (~ Q).

(6) 2.1 Group 6 AWW link. Pair of statements: ~ (P A Q) and P = (~ Q).

Link to your group’s AWW board, where your group’s problem is already uploaded. Do your
group work directly on the AWW board and then, when finished, let the professor know so that
she can look it over for feedback.

To help you with LaTex (for ER), a LaTex file and a corresponding PDF file | for this handout.

Group 1. Consider the two compound statements 2.2HO
(1)

~(PAQ) and  (~P)V(~Q).
a. Contruct a truth table for the compound statement
~(PAQ)
as well as for the compound statement
(~P)V(~Q).

You may just make one big truth table instead of 2 separate truth tables.

(@O [D] @ [ & | (8) |
(PIQ[~P[~Q[PAQ[~(PAQ)[(~P)V(~Q)]

T | T
T | F
F|T
F|F

b. Is ~ (P A Q) logically equivalent to (~ P)V (~ Q)? Le., [~ (PAQ)]=[(~ P)V (~ Q)]?

Justify your answer, using complete sentences.
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https://awwapp.com/b/uad0cixhqlf0i/
https://awwapp.com/b/ubfcku9zkahph/
https://awwapp.com/b/uav2s6v6wkro8/
https://awwapp.com/b/uvlpgd61apivt/
https://people.math.sc.edu/girardi/m300/handouts/ts2-1GWtt+logicEqStdSafe.tex
https://people.math.sc.edu/girardi/m300/handouts/ts2-1GWtt+logicEqStdSafe.pdf

Math 300

§2.1 Group Work PINS: Group Number: 1, 4, 5, 6.

Group 4. Consider the two compound statements

P = Q and (~P)VQ.
a. Contruct a truth table for the compound statement
P = Q
as well as for the compound statement
(~P)VQ.

You may just make one big truth table instead of 2 separate truth tables.

(@O O [ (o |
(P1Q[~P[P = Q|(~P)VQ]

T | T
T | F
F | T
F|F

b. Is P = (@ logically equivalent to (~ P)V Q? Le., [P = Q] =[(~ P)VQ]?

Justify your answer, using complete sentences.

Group 5. Consider the two compound statements

~ (P = Q) and PA(~Q).

a. Contruct a truth table for the compound statement
~(P = Q)
as well as for the compound statement
PA(~Q).

You may just make one big truth table instead of 2 separate truth tables.

(@[] (0] () | (e) L ® ]
([ PlQ[~Q|P = Q|~(P = Q)| PN(~Q)]

T | T
T | F
F| T
F | F

b.Is ~ (P = Q) logically equivalent to P A (~ Q)? Le., [~ (P = Q)] =[P A (~

Justify your answer, using complete sentences.

Q)J?
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Math 300

§2.1 Group Work PINS: Group Number: 1, 4, 5, 6.

Group 6. Consider the two compound statements
~(PANQ) and P = (~Q).
a. Contruct a truth table for the compound statement
~(PAQ)
as well as for the compound statement
P = (~Q).

You may just make one big truth table instead of 2 separate truth tables.
(@[ [ @ [ (o | (f) |
| PI1Q[~QIPAQ|~(PNQ) [P = (~Q)]

T | T
T | F
F | T
F|F

b. Is ~ (P A Q) logically equivalent to P = (~ Q)? Le., [~ (PAQ)] =[P = (~ Q)]

Justify your answer, using complete sentences.
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